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BT 4 | A 5K 7 % > myT 4 | M 3R 7 = = mpOT 4 | %K ) 7 P myOT 4 | 3 7 = =
w1 T H 241 277 298 575|F 4 WHAT5 T H 525 603 618 1L,221|% BT 7 T H 1, 200 1, 584 1,416 3,000 |l A HT3 T H 215 292 284 576
B W 2T B 375 421 411 832| T » WEMT6 T H 362 395 407 802|%r BT 8 T H 476 587 601 1, 188|/ | 4,425| 5,427|  5,500| 10,927
B w3 T A 288 346 352 698 s 9,301 10,927 10,848 21,775|% BT 9 T H 978| 1,211 1,075 2,286 (%1 T H 103 109 112 221
FE4ET1T B 143 155 134 289 |k IE 588 647 689 1,336 JSHET 1T H 128 117 119 236| —{RE2T H 297 361 367 728
FasET2 T B 98 88 94 1828 L HT 1T H 297 398 383 781K JA M2 T H 334 381 364 745| _{RE3 T H 270 322 349 671
PE4ET3 T B 121 144 170 314|% W2 T H 599 696 677 1,373 5 8,353 10,389  9,443| 19,832| {RE4T H 127 133 157 290
£ L HT 280 282 302 584 |9 BT 3 T H 1,442 1,532 1,435 2,967 | 0BT 1T H 789 933 885| 1,818| “{REST H 95 125 124 249
N HT 420 437 443 880|% T4 T H 737 788 757 1,545 13D AT 2 T H 296 384 351 IR H 1T H 71 81 79 160
fip L) 218 225 244 469K 9 1 T H 772 905 899 1,804 ({0 BT 3T H 227 258 266 5243k 2 T A 126 155 154 309
1= T 125 119 138 257\ Kk M 2 T H 322 413 404 817\ A T4 T H 727 736 721 L4T|R 3 T H 119 131 124 255
* F W 180 216 233 49|k 3 3 T H 681 838 880 1,718 ({r iD BT 5T H 719 736 729 1,465 |4 & A AT 183 182 206 388
= fF HT 444 481 535 1,016 |4 A 422 387 474 861 |7 ET6 T H 1,214 1,350 1,332 2,682|f & 1 T H 59 56 60 116
K o WE HT 492 570 579 1, 149|& 52 429 519 548 1,067 (30 BT 7 T H 1,099 1,104 1,175 2,219|% & 2 T H 70 79 79 158
W/ kT 313 317 337 654| A B F 1T H 245 311 314 625 {7 D BT 8 T H 785 892 741 1,633[f & (L 36 63 77 140
KB HET 516 606 589| 1,195|K % F2 T H 240 337 338 675 {3 BT 9 T H 948 922 976|  1,898|/h at 1,556 1,797 1,888 3,685
HifiHELT H 208 229 248 47714 F 1 T H 477 694 647 1,341 |0 BET10 T H 841 773 763|  1,536|%F [ 1 T A 401 288 322 610
HmEfnHE2T H 280 321 346 667|145 ¢ 2 T H 84 100 100 200 Sip 7,645| 8,088| 7,939 16,027|% M2 T H 88 98 100 198
HmEfiHE3T H 306 387 399 7864 F 3 T H 335 466 431 897\ & 1 T H 186 200 217 4178 W 3 T A 259 193 193 386
Ft 5,048| 5,621 5,852 11,4734 FF 4 T H 530 722 684| 1,406 |# #& 2 T H 954 1,316 1,218 2,534|/h@ K1 T H 96 122 103 225
B AKRTL T H 231 282 289 57114 3 5 T H 460 616 599| 1,215\ 4G 3 T H 333 427 428 855 /N K2 T H 46 58 62 120
By AmT2 T H 351 412 405 817 2t 8,660 10,369 10,259 20,6284 # 1 T H 1,296 1,492 1,489  2,981|/N&@ K3 T H 178 236 228 464
B KET3 T H 204 280 274 554|3 F MfE 1 T H 480 466 536 1,002(4 #H 2 T H 965 1,098 1,188 2,286|/Nr A4T H 233 187 260 447
El1TH 699 727 765 L4922 & M2 T H 830 829 861 1,690(4 # 3 T H 878 1,009 1, 000 2,009 (/N A5 T H 74 83 96 179
Ei2TH 702 866 880 L7461 & M3 T H 1, 060 1,105 1,082 2,187|4 # 4 T H 0 0 0 O R 1T H 204 171 211 382
EW3TH 380 526 520 1L,O46|W & M4 T H 731 718 715 1,433(4 # 5 T H 182 56 159 2158 R 2 T H 254 329 308 637
Ei4TH 785 884 988 1872 & M5 T H 947 955 975 1,930 G 4,794 5, 598 5,699 11,297 R 3 T H 411 242 379 621
EW5TH 517 536 561 LO97T|3 & M6 T H 364 413 377 790 [ /)5 | 51,472 58,984 58,127 117, 111 [/ G 2, 244 2,007 2, 262 4, 269
E 6T H 158 212 220 432|148 » i1 T H 418 474 473 947|M h 1 T A 352 441 404 845|pk A1 T A 262 215 286 501
EW7TH 484 555 492 1,047 48 » fi2 T H 803 739 856 1,595 |4 2 T H 418 478 508 986 A 2 T H 389 284 289 573
E 8T H 266 328 311 639 |ffi [ BT 1 T H 330 418 387 805|4M 3 T H 432 547 555 1,102[p A 3 T H 110 138 135 273
EW9TH 3 4 3 7|6 [E BT 2 T H 693 836 833 1,669 (Ffn HHET LT H 217 274 268 542 A 4 T H 59 59 62 121
KHET1TH 310 377 358 735 |fifi i BT 3 T H 550 586 548 1,134(fn HET2 T H 269 329 354 683[ A5 T H 76 78 81 159
RKHEWT2T H 359 341 336 677 |Hfi [ T 4 T H 465 453 444 897|#E 4% 1 T H 143 194 190 384|pk A6 T A 38 50 51 101
RKHEBT3T H 298 396 362 758 =i 7,671 7,992 8,087 16,079(#F #F 2 T H 171 198 227 425\ A7 T A 71 88 90 178
K HEWT4T H 314 389 402 7918 BT 1 T H 1,142 1,425 1,314 2,739t 4 3 T H 180 232 217 449|p% A8 T A 102 129 103 232
K HEHBTS T H 302 368 374 7428 BT 2 T H 703 930 808 1,738(HE 4% 4 T H 209 258 241 499 [/ 1,107 1,041 1,097| 2,138
T4 W1 T H 684 791 794|  1,585|%r BT 3 T H 1, 504 1,728 1,495 3,223[#E # 5 T H 482 628 635| 1,263|H 88 Af A &k 9,332| 10,272 10,747 21,019
T WHET2 T H 521 635 620| 1,255|%F MT 4 T H 659 794 762 1,556 |#E %5 6 T H 490 658 594|  1,252|& 2+ 60,804 69,256| 68,874 138,130
T WERT3 T H 399 500 424 924|%¥r BT 5 T H 1,126 1,492 1, 366 2,858 |4l A HT 1T H 372 465 457 922
T WERTA T H 447 520 445 965(¥r BT 6 T H 103 140 123 263 |4l A BT 2T H 475 433 566 999




